23.   How large a sample should be selected to provide a  95% confidence interval with a margin of error 10? Assume that the population standard deviation is 40.
27.  Annual starting salaries for college graduates with degrees in business administration are generally expected to be between $30,000 and $45,000.  Assume that a 95% confidence interval estimate of the population mean annual starting salary is desired.  What is the planning value for the population standard deviation?  How large a sample should be taken if the desired margin of error is

  a.  $500?

  b.  $200?

  c.  $100?

  d.  Would you recommend trying to obtain the $100 margin or error?  Explain

29.  The travel-to-work time for residents of the 15 largest cities in the United States is reported in the 2003 Information Please Almanac.  Suppose that a preliminary simple random sample of residents of San Francisco is used to develop a planning value of 6.25 minutes for the population standard deviation.
  a.  If we want to estimate the population mean travel-to-work time for San Francisco residents with a margin of error of 2 minutes, what sample size should be used? Assume 95% confidence.
  b.  If we want to estimate the population mean travel-to-work time for San Francisco residents with a margin of error of 1 minute, what sample size should be used? Assume 95% confidence.

33.   In a survey, the planning value for the population proportion is p
[image: image1.wmf]*

  = .35  How large a sample should be taken to provide a 95% confidence interval with a margin of error of  .05?
37.  Towers Perrin, a New York human resources consulting firm, conducting a survey of 1100 employees at medium-sized and large companies to determine how dissatisfied employees were with their jobs.  The data are shown in the file named Job Satisfaction.  A response of Yes indicates that the employee strongly dislikes the current work experience.

  a.  What is the point estimate of the proportion of the population of employees who strongly dislike the current work experience?

  b.  At 95% confidence,  what is the margin of error?

  c.  What is the 95% confidence interval for the proportion of the population of employees who strongly dislike the current work experience?

  d.  Towers Perrin  estimates that it cost employers one-third of an hourly employee’s annual salary to find a successor and as much as 1.5 times the annual salary to find a successor for a highly compensated employee.  What message did this survey send to employers?

41.  An American Express retail survey found that 16% of U.S. consumers used the internet to buy gifts during the holiday season.  If 1285 customers participated in the survey, what is the margin of error and what is the interval estimate of the population proportion of customers using the Internet to buy gifts?

43.    A  phoenix wealth management/harris interactive survey of 1500 individuals with net worth of $1 million or more provided a variety of statistics on wealthy people.  The previous three-year period has been bad for the stock market, which motivated some of the questions asked.
  a.  The survey reported that 53% of the respondents lost 25% or more of their portfolio value over the past three years.  Develop a 95% confidence interval for the proportion of wealthy people who lost 25% or more of their portfolio value over the past three years.

 b.  The survey reported that 31% of the respondents feel they have to save more for retirement to make up for what they lost.  Develop a 95% confidence interval for the population proportion.

c.  Five percent of the respondents gave  $25,000 or more to charity over the previous year. Develop a 95% confidence interval for the proportion who gave $25,000 or more to charity.

d.  Compare the margin of error for the interval estimates in parts (a), (b) and (c).  How is the margin of error related to _   ?  When the same sample is being used to estimate a variety of

                                         p

proportions, which of the proportions should be used to choose the planning value  p
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 =.50 is often used in these cases?
I need a paragraph about confidence intervals. In the paragraph describe their parts and discuss their purpose.
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